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; Grey line: exponential fit Peak flux: 5.560+/- 0.476 c/s/cm? E
E h Black line: power law + gauss fit Fluence : 47.42+/- 4.26 c/lcm? 3
— Dashed line: power law A ) ’ =
= } Duration: 17.50+/- 2.06 s E
= Best fit model: 2. 3
= Best fluence model: 2. =
= Best duration model: 2. 5
é MHH&H \ HﬂHmuhmu § L Ltm&lﬁ\%MHL‘L WM H\ MLW‘ \ﬂwM\‘ﬂ‘HHHHJMHMLHH‘{Q\m b Mﬂnm 1 JMHLM k \m i, h&H\MHHlm%&
B WWWW L L L A R AL LI A=
; Exponential fit é
= Expon.time: 3.74+/- 0.29 s (chi*red= 1.16) =
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; Power law fit é
= Power law index: -1.529+/- 0.075 (chi’-red= 1.11) 3
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—  Power law fit plus Gaussian (st.dev.=254.71+/-***** 5, fracgs= 0.00+/- 0.01) =
- Power law index: -1.508+/- 0.038 (chi*-red= 1.12) 7
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